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Reg. No.

IV Semester B.Com.2 Degree Examination, May 2016

(RCU - Regular and Repeaters)

BUSINESS LAW

Time : 3 Hours]| [Max, Marks : 80

Instructions/Zetidned :

1) Answer all questions subject to internal choice.
&0307 ooyt ae/Ted), Her JHrv) evg 0.

2} Q. No. 11 is compulsory (Case Study).
g’g ,s'o&g 11 o'agab (380 Peass).

SECTION —~ A/aypen— @

1. Answer any ten of the following questions : (10 x 2 = 20)
$JNT Wemd Y, L3020 :

()

(b)

What is voidable contract?
ORAEFITINNEG, WI0T Q0BSERO?

What is Quasi Contract?
RAY, WIOTW HoBTeR?

Define the term “information” u/s 2(f) of RTI Act 2005.
2005 RTI s20d) u/s 2(f)0 590 “S0kd” IBH 59,35 DedD.

What is undue influence?
BTOUS TS oBTerL?

»

Define the term “Consumer Dispute”.
“MRBTE 0t8” b 3 VedD.

What is breach of contract?
WIOTTW SLOPT HoBBerd?

1 P.T.O.
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(g0 Who are incompetent persons to a contract?
waocﬂa UNBE O :g&nm ad3cy?

(h) Define contract of guarantee.
2R WB 0BT 53,35, VeRD.

(i}  Give the meaning of contingent contract.
BoI3De0d) 2BOTH WFF DeBD. |

) Who is Bailor?
D eTFH 20T IRT?

(k) What is meant by cross offers?
VR ZHBRL 20uveRd?

()  Define is contract of indemnity?
IR, S0we0 wI 0BT T3, 80R0.
SECTION - B/ apent - w

Answer any three of the following questions : (3 x5 =15)
Uewan Suedd FZrdn eu3dd :

2.  State the exceptions to the rule “No consideration no contract”.
SF$FOIQT wI BNV BTTBRIIY, 3920

3.  Explain the agreement opposed to public policy.
PIEBOT edn ABRPTT usomsnvag II0AD.

4. State the information exempted from disclosure under the RTI Act-2005.
Soodod &), mod)m— 200556‘501), adn .:i:m&»&odoa&gl wWhTonzBzen IToS deBdennd
QOWOTRY, 392D.

5. Define bailment and explain briefly the different kinds of bailment.
geseod D3, JeBD @ AFe@mmab HIF FFONRY), SogFToN I[0D.

6. Explain the discharge of contract of mutual consent.
BOAT wayiod SueeF LIeBE ARwrsod Fo0 HTOD.
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10.

11.

SECTION ~ C/ 2% - 8

Answer any two of the following questions : .(2 x 15 = 30)
YeFd 0B BBNIN 6u3d0D :

Explain the circumstances under which a surety gets discharged from
Lability.
mmcmmadairo&)mm 3T, BATBMOToDOT J0TDNIS Sodz,)’s‘rwaigt D30B.

Define Pledge and explain the rights and duties of ‘Pawnor’ and ‘Pawnee’.
“ROY” 938 VeBB Horte NOIDT Borie NGITIF S &), B03) FIEFNIT), HIVD.

Explain the various consumer disputes redressal agencies.
k] DX S0H0B IOF Faodorzpaemidi 3830,

£l

What is Void agreement? Explain the agreements declared by Indian Contract
Act as void.

VTSI Zuﬁwf)d QOBTEBO?  WeTscadd a,a;od Faoiécmq’ OETIRNCS  udetes
wdocmmgl 23030,

SECTION - D/ &on — @

Case study (Compulsory question) : (1 x15 =15)
F@e0l 23, (J800 IBeIe3)

(a) ‘A’ agrees to pay Rs. 10,000 to ‘B’ if ‘B’ beats ‘C’. ‘B’ beats ‘C’. ‘A’ refuses
to pay Rs. 10,000 to ‘B’. Whether ‘B’ can approach the court to recover
the agreed amount?

‘Wadw Aobs) FAEFT FI) AT CATOWNYR), SABITHTIA ‘> 0dw LT
SPEFT. Dol VbR, BABOIVIT. UBT ‘w'alw Bn SeBew N0BORI.
A oo BRIV, FBobew Beckirs ST Beerwsowe?

(b) Sanju offers mobile to Manju without any consideration because at one
time Manju’s father Teju had given Rs. 10,000 to Sanju. Manju accept
the offer. Is this a valid contract?

WBY SoTiod Soz0AT IoBodN@ Jew, ozt dwe. 10,000 é@egjdoqupod
B0z 02021t adnF)de IiFoded 33 SRUOR IS ZT INBIZS. B
D933, o) 333 RRURTVS. BMTT B wIOVF) eeede Imer)rie?

3
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(c) ‘M’ offered a reward to any one who would rescue his wife dead or alive
from a burning building. A fireman risking his life brought out the wife’s
dead body. Is he entitled to recovery of the reward?

‘M’ & evdodddHs Gumtscid?pod 352{ Sod@oi)dgl odRTE0R P¥eS03maN RS abds
cﬁeﬁad& aRon 306110335%66 WBIDOT AeBI)WN FTAAT. vf}l T8 BYT ),
fhagdo& 3&& mﬁ@dﬁ% diﬁde ‘M's Boraod 3%3 de&S&i 30{3@33%63&. HMGT,
MDE) WBISIG IFdaben eprie? JP0Hm Ok,
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IV Semester B.Com.2 Degree Examination, May 2016
(RCU Syllabus - Regular and Repeaters)
INTERNATIONAL TRADE AND BUSINESS

Time : 3 Hours] [Max. Marks : 80
Instructions/ZRLd0me) ;

1} All sub-questions should be answered continuously at one place.
DR, VT-GINIrf eodde 5 w30 wdad

2) All sections should be answered in the same answer book,
DR, DTRINTY VFONYRX) 2ode ev30 23500 a8,

3} Diagrams should be drawn wherever necessary.
&5 DS Seatdgnda) driavesesd
SECTION -~ A/ Qyeri — &
1. Answer any ten of the following in 2-3 sentences each : {10 x 2 = 20)

SYNT Wevedd B3y IZndrt 2-3 DG NI Gv3020 :

(a) What is international trade?
¥03TTA 0D THET Howdess?

(b}  Who advocated the Modern Theory of International Trade?
8036033%501) mﬁmdd SONT .‘i;cr%oscs T,3203F00 0dsety?

(c) What do you mean by Net Barter Terms of Trade?
VD TR AVBO0D THIT FTeTIL DOBTeRO?

{d} Give the meaning of unfavourable balance of trade.
%3500 D3TT wWedoh VG SO,

(e) What is advalorem duty?
a‘b’éemﬂmaa’ 0T oWBERO?

(f ~ State the meaning of Forward Exchange Rate.
S0oNB NS0 BT HoBBeR?

(g What is devaluation of currency?
BOE YTIIO, 20BTER?

(h) Mention any two modes of entry into International Business.
©030TR 0D BBHFITIVY, ©58303 03PFTRTCR HTRED DPTALT, RO,

1 P.T.O.
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10.

(i)  Give the meaning of Franchising.
Q8eR [PIF 3636 QeBONT O vPr IHARO.

() Give any two advantages of MNCs.
2B Cadeody 30DMY oRFWITTe HTB VRTAUINLE) WScR0.

(k} State the names of four prominent MNCs of India.
WoT3ead) FHVD WHLTALOD FOTANY Toer) HRTY BedD.

() What do you mean by exchange control?
AL Qadod e orEBedd?
SECTION - B/ e —

Answer any three of the following questions : (3 x5 =15)
BYNT Wewod Suech F3ndrt eugdad

What is terms of trade? What are the factors determining terms of trade?
29,30 FUTON 20TBeROT? DT FOICONYR), AP VRS 808nYy ainyH)?

Explain the causes for disequilibrium in the Balance of Payment.
Bowa0d> wed WASHRPCOTT FRTRIYRY IS0,

Discuss different types of rate of exchange.
B ed AAS00d BOB Y ﬁjﬁ‘adﬁﬁfﬁi 323620,

Briefly explain characteristics of International Business.
©03TTaA 0D FDHTH OFends) Fogzmeh HT0D.

What are the disadvantages of MNCs?
WBITIKLOD FOBANY VTROITROIND dRFH?

SECTION - C/9yori - 3

Answer any two of the following questions : {2 x 15 = 30)
3N wewad 0B BZridn evzd0 !

Explain importance of International Trade.
©0300& 0 SHFIVT SOBITI), JFOAD.

Critically explain purchasing power parity theory.
BRU)S B30l 30 IBNTFZ0D AT0ITT) LdezaZ TN DTOAD.

Discuss the difference between Internal Business and International Business.
30305 %Smd o) ?303603&501) :gssmdcs :%Saazsru’ﬁeé zorj‘ 2323520,

What is MNC? Explain characteristics of MNCs.
WBOTALOD FOTQ FOWTER? WHY Ta&L0D TOTONY OFnIs) DIV,

2
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11.

Case study (Compulsory} :
A8 G (FEaod BY) -

SECTION - D/ oen — @

23424 /D 240

(1 x 15 = 15)

Following are the items of exports and imports in respect of Japan :

S.No. Items

1.  Export of goods

2.  Export of services

3. Export of ornaments

4.  Export of machineries

5.  Gifts received
6.  Capital received
7. Import of goods

8. Import of services

9. Import of ornaments

10. Import of machinaries

11. Gifts offered

12. Capital payments

Questions :

In crores of

Rupees
90,000
15,000

8,000
18,000

1,000
30,000
70,000
20,000
14,000
15,000

2,000

41,000

(a) State difference between visible trade and invisible trade.

(b}  Prepare Current Account and Capital Account of Balance of Payments

using above data.

(c) What is Balance of Payments position of Japan?

P.T.O.
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HIORE O5) FF) SRR WD o FYATOI :

3,.50. FoIone) Bnced de.ndd
1. =0sond Oy 90,000
2. Rednd oy 15,000
3 £330 0% T) 8,000
4 01032,eIF0RNY TF) 18,000
5. IABR FoeIdIned 1,000
6 BT woBRTY 30,000
7 A0BONY B30 70,000
8.  Reldne 3000 20,000
9, 323000 srd 14,000
10. 0odReRvTrny eS0T 15,000
11. QcBB sogddnedd 2,000
12. S9803000 WORDY 41,000
BB

(@) rtecwd Se@ed R wilecws TYTOT WHNY TR F 393 BewD.

(b)  Soeengdis eoﬁ—ﬁoa%ﬁ?} AB0HR0T Fowe0d wWedcd wWed W3 ) woBeY
:,Daéodoﬁizi 303020.

[c) %xem Be3nW Jowaodd wWdad A3 (7eF) 2m0?
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Reg. No.

IV Semester B.Com.2 Degree Examination, May 2016
(Regular and Repeaters)
HUMAN RESOURCE MANAGEMENT
Time : 3 Hoursj . [Max. Marks : 80

Instructions/ZRtsdlned :

1} Attempt all questions according to the internal choice.
v ZPY Zetid 50 U0 200V0,

2) Neatness will carry weightage to the answers.
VST B0DIN T T3 FT A,

3} Q. No. 11 (Section-Dj} is compulsory.
38 7oz 11 (g7er-@) vagaleeid.

SECTION - A/ 0 — &
1. Answer any ten of the following : (10 x 2 = 20)
Weren B3 J3nrt vgdd:

(a) Define Human Resource Management
ST F0TVRY ASFBBOL aatsa% 380,

(b) What is Personnel Management?
SRS 30SBR 20000 ISFHE DOTBERO?

(c) Define Selection.
&0l HoBTeR?

(d) What is meant by Internal Source of Recruitment?
P ok ©0308 Foeontd HoEdeRL?

(€} Write any two important objectives of Human Resource Development.
SRES oS BPFHoL adnse DTBo Booa), KRBT, w3aD.

1 P.T.O.
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()  What is Induction?
‘BoBOVEBTY HOBBERO?

(g Write any two important advantages of OJT.
ouER, ool 30uled HorTERD?

(h) What is a Sound Promotion Policy?
Jeheesd ded ogdesd? '

(il Define Performance Appraisal.
FQLF MOTISTNE ARRE Sy &ARD.

() What is H.R. Audit?
P SnTo A 303365!:)&05 dia 3J03T HoBTeFO?

(k)] What is job description?
guider F0E dorderd?

()  What is Career-Counselling?
SRS F3 FUB F0TTER?

SECTION - B/awen - w

Answer any three of the following : {3 x5 =15)
Berad Saedd :-.:_th nern eu3ddd :

2. Explain the advantages of Human Resource Development.
SRTS FoTTAL BPZ B0 BROBAINYR) ITOAD.

3. Explain Managerial functions of HRM.
SIS 0IBVAL ASFBE0D UBIRIF FoDFNTRY ATV

4.  Write on the factors affecting Recruitment.
P3rab 7300 $oedd Z5e Vet ©03nEd 0dw))?

5. Explain Dual Career Options.
D=3 B0l)odbiy, 303 WD,

6. Discuss the advantages of Exit interview.
AMFROT F0BBFDOWAHS VSOBAOINYE) wWedFAD.
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10.

11.

SECTION ~ C/%or - 3

Answer any two of the following : (2 x 15 = 30)
S YN eved DV $u3T WD :

Define Human Resource Information System. Discuss the need and objectives
of HRIS.

333 ﬁoﬁaifaep 0%l a’gssn’@ab aadajﬁseab? [Z1nle] ez%a'smb Honn mqaeémidgt
2388720,

What is H.R. Accounting? Discuss the objectives and problems of H.R.
Accounting.

ST ﬁosmeg) 66& 20BTeRY? uRo emc;;émb LT g VAR Vintoloiariat st a/aoddmﬁagl
2323620,

Discuss the functions of Personnel Management. Explain its Importance.
AOBOD FoLFAIFBE D Fo0E YRy 138r 0. ves abwa‘iﬁda&gl JT020.

Define Job Analysis. Explain the benefits of Job Analysis.
33 BeReS mﬁa% 2RO7 SudomaridI oa?,me}aigl IR0 WY,

SECTION - D/2%n - @&

Case Study (Compulsory Question) : (3 x5 =15)
ST0E v oy (Smaod IB) :
{a) As a H.R. Manager of a Private Scheduled Bank you are required to

appoint 20 Sales Executives for a newly established branch. What steps
you take for ‘Recruitment’ and ‘Selection’ of the right type of candidates?

3 eedrt TBITIRT 2080 WA 233,08 %5@35#0&1 0ed) 20 m® seadbr
K)aar&ﬁddgt Sedonesnd. ‘33¢ Do ‘esai%’ JPBEL 0IRS DA so:s’mid\gl
BRR00eD?

(b) A company is into Electronic Business and wants t¢ adopt an appraisal
system for its employees in which opinions from a number of stake-

holders is collected before promoting them. What technique you suggest
to the company as a H.R. consultant?

208 FOTNOIW Qﬁmﬁ 20N aaémd MO&C% 3::% ROt Jelelat mmmug
K)aiﬁs'oi)di SEeL Fo3A SowoPRd  wenndod ezpm;,abmfw% 3r1m£./.)%o.)
FHLYTNG.  dexh INTI AT F0B BewTBooND)  alw 3033,
ARURCO?
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{¢) In a company there are a number of technicians working along with
White and Blue collared employees. The company wants to increase their
job-specific skills. Which method of training is suitable for its employees?

2,000 BoBR0LY 30385 (technicians)0 25031 Q¥ ®nne Jed oot (collar)
FOREIC ¥BHT. FoII0IL @3B ABAENT, W D83, FHUn FPIONYR),
BuUpew 03 3gzied030 ZRTDNTE?
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(g Whatis standard asset of a bank?
W, 080r° Foz3Rob roesEs (standard) &3 DoRde?

(h) What is statutory reserve created by banking company?
wx080n" FozNod BHITWE D 2orverd?

(i) Whatis accounting entry when capital reduction is utilised?
ero@¢ BB3T sugoleer IRBEN B eneabd Bert TaRdRweE)?

(j) What are the kinds of reconstruction?
P jeard X [eN M) a}mdﬁd@t\%@%&

(k} What are non-banking assets?
wR08ue3dT B DOBBEH?

() How do you treat bills drawn and accepted mutually between holding
and subsidiary company?
LSO o ous gomdNe SEoNE 0303 TooRNY dédmdﬁe}abd Ben

JDriedseiesd?

SECTION — B/ agln - @

Answer any three of the following : (3 x5 =15)
YRS Bewad SARTTE, U300 :

Distinguish between ‘merger’ from ‘purchase’ method of amalgamation as per
AS-14.
wPoblon’ 0805140 3590 29IV Jpe0nvesd 0 Fors (merger) orin DD

GHRY SRIT JF! 390,

Compute purchase consideration, goodwill or Capital Reserve from the
following information :

Asha Ltd. Bhosle Ltd.

Particulars Rs. Rs.
Assets 3,00,000 2,50,000
Liabilities 1,00 ,000 75,000

Equity share capital of Rs. 10 each 2,00,000 1,75,000

Asha Bhosle Co. Ltd. agreed to issue 20,000 shares of equity of Rs. 10 each at
a premium of Rs. 5 to Asha Co. and 15,000 equity shares of Rs. 10 each at
10% premium to Bhosle Ltd.
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gt B3 Snbdnor DO JoyTS, Sedr ab’acgs VP WOBTY aaobaizl 507 HLBOVD :

5D 030 W oI

O3Tried dw. dw.
esyried ©3,00,000  2,50,000
w0 Oeh 1,00,000 75,000

Beob woBDY FRPF, Sedh B WIS F3 3edT dw. 10 2,00,000 1,75,000
ege oI Fone WAk Fozdobried 2BeIBTBRVTED WARAOB) WY FTHTNYRY
3rdoBANS sudeaRon 8Te WAt How BT FoID JridodRNd. ez et Foa oo
ozt 20,000 3Ny, Bedoriddy Swd WS de. 10 I3 BBt de. 5 Tod
SevadB*Reobnt Hene Week 503t 15,000 g, Sedonday, Swd B¢ de. 10
23 8e0rt 10% 2¢0000B00d1 dedew 2488

Karnataka Ltd. received the sanction of the court for reducing its share capital

and for internal reconstruction :

(2)

(b)

Pass

Cancellation of 25,000 old preference shares of Rs. 20 each fully paid by
the issue of same number of new preference shares of Rs. 15 each.
Cancellation of 25,000 old equity shares of Rs. 15 each fully paid by the
issue of equal number of new equity shares of Rs. 10 each fully paid.

To write off debit balance of profit and loss account of Rs. 1,05,000.

To reduce the value of machinery by Rs. 45,000 and that of goodwill by
Rs. 20,000.

To reduce the value of investments to market value by writing off by
Rs. 40,000.

the journal entries in the books of Karnataka Ltd.

TOIFET FOZ) 3T WoRYEY, BRI InBen Tonen ©o30F FJo'ous InEen
D9, 0dRO0HRT BRORS SBRE) ST FYNT0IS

(a)

(b)

{d)

(e)

25,000 3dod THBIP Bedorida) H[ous J3 Bedt de. 20 Tod
B0 0bBERY, 3,8 Bedri de. 15 dod Bomead@meNd S0 J0nedd: woBTY B3
SRBIIT.

25,000 =mdod wRPY, Jedonddy, JwwS [3 Zedrt o 15 dod
Z0TRODTBTEP), 7,8 Bedrt 0. 10 To3 ZowmecdhaNd HoB> J0resd wor=w TR
SIRBIT0.

293 B 3L B [e3 de. 1,05,000 3rnd HBOF[To.

abodReazonnd Soedd da. 45,000 rda) 3R IRBIR> Tere 3edF SPeT
WeJobd de. 20,000 783 Ierdo3w.

rooRTHNY e InTOzeioh Wdab Dedn de. 40,0000x), IR
FRINRLOITO.

A00 F[THONIR), FoF T Bac wedadd, FReBAD.

3 P.T.O.
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5."_

Calculate Minority Interest and Goodwill from the following :

IR

Subsidiary
Co. (S)
Rs.

1,00,000
40,000
20,000
50,000

S Co.
cR.

1,00,000
40,000
20,000

Holding
Co. (H)
Particulars Rs.
Share capital (shares of Rs. 10 each) H Co. Ltd
acquired 6,000 shares of Rs. 10 each of S Co. Ltd.
for Rs. 1,50,000 on 1.10.2014 4,00,000
General Reserve (1.4.2014) 60,000
Profit on {1.4.2014) 80,000
Total profit for the year (1.4.2014 to 31.3.2015) 1,00,,000
2 aTy :ba&:acmd% 8pdd 8o, BedbmUT 3 Here 03 @%ﬁé 23930136% BOBY
&BoLO :
H Co.
I3ried dn.
Bedo worzd (S0 3,3 3¢ty Bwe. 10 Tod) (H Co.
938> S gozdaod 6,000 3ed)ﬁ¢)r&?i DU 3,3 Sedrt
Ow. 10 dod 1,50,000 :b’begs% Dmeos 1.10.2014 dord
BR0DT. ) 4,00,000

50,000

From the foliowing information prepare Profit and Loss Account in prescribed

form of Banking Company as on 31.3.2015.

Rs.
Interest and discount 6,000,000
Interest on borrowings from RBI 1,20,000
Income on Investments 1,00,000
Interest on Deposits 2,00,000
Interest on balance with RBI 20,000
Commission exchange and brokerage 80,000
Salary and allowances to staff 80,000
Travelling expenses 12,000
Directors fees 8,000
Audit fees 4,000
Profit as on 1.4.2014 1,60,000
Make provision for bad debts 48,000
Provision for income tax 72,000




59AT Smbdoen oy D3y B wedobsy, wWosont ol eRROBTN BIsos

31 .3.2015% 3012020 :

WA Hore 2ech

BaIE tR03000 30T Pow Seds wad Bn
rOvsTBoD SRIT Deds uosab
Be3eine Soeds wR B

ORZE w33,080 Q03 $030 Soeds e
TeRY Hnw QQSU

OO0 Tatartetelal %oty sowd Borin 43,
T3 Bedried

dSer B30 S0z

&5, 352110 ZogRd

eyl H0B) Fod w03 (MyWorind) credit
B0B0IRZE FeANOMeN 52002
swsod goEN 3iDOXR)

oL.

6,00,000
1,20,000
1,00,000
2,00,000
20,000
80,000
80,000
12,000
8,000
4,000
1,60,000
48,000
72,000

SECTION - C/o%nn - 8

Answer any two of the following :
Peso oD 3o ev3ddd :

Particulars
(I) Equity and Lidbilities
{1) Share holders Fund :
Share Capital
Reserve and Surplus
(2) Non-current Liabilities :
Long-tett borrowings
(3) Current Ligbilities :
Trade payables
Total Equity and Liabilities

Note No.

(2 x 15 = 30)

Th# Bilance Sheet of Renuka Ltd. as on 31.3.2015 was as follows :
Amount

3,00,000
15,659

1,20,000

15,110

4,50,769

P.T.O.
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Particulars Note No. Amount
{II) Assets
(1) Non-Current Assets :
Tangible fixed assets S 4,00,562

(2) Current Assets :

Current Investments 6 13,481
Inventories 7 13,705
Trade receivables 8 9,366
Cash and cash equivalents 9 13,655
Total Assets 4,50,769
Notes to Balance Sheet as on 31.3.2015 :
Rs.
Note 1 : Share Capital
Authorised Capital :
12,000 Preference shares of Rs. 10 each 1,20,000
25,000 Equity shares of Rs. 10 each 2,50,000

Issued Subscribed and Paid up Capital :

10,000 Preference shares of Rs. 10 each fully paid 1,00,000

20,000 Equity shares of Rs. 10 each fully paid 2,00,000
Share Capital 3,000,000

Note 2 : Reserves and Surplus

General Reserve 10,882
Profit and Loss Account 4,777
Reserves and Surplus 15,659

Note 3 : Long term Borrowings (Debentures) 1,20,000

Note 4 : Trade Payables

Sundry Creditors 14,552
Bills Payable A 558
Trade Payables 15,110
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Rs.
Note 5 : Tangible Fixed Assets :
Plant and Machinery 3,60,247
Land and Building 10,676
Steamer 16,645
Furniture 12,994
Tangible Fixed Assets 4,00,562
Note 6 : Current Investments
In Shares 13,481
Current Investments 13,481
Note 7 : Inventories
Stock-in-Trade 13,705
Inventories 13,705
Note 8 : Trade Receivables
Sundry Debtors 9,366
Trade Receivables 9,366
Note 9 : Cash and Cash equivalents
Cash at Bank 13,521
Cash in hand 134
Cash and Cash equivalents 13,665

Scheme of reconstruction of the company was approved by the court
according to which Preference Shares were to be written off by Rs. 4 per share
and equity shares by Rs. 6 per share. The amount so available was to be
utilised for writing off the following assets :

(a) Plant and Machinery - Rs. 1,57,201
(b) Building — Rs. 676

{c) Investments- 6,261

(d) Steamer - 4,045

{e) Furniture - 3,372

The general reserve should be extinguished and the difference should be
adjusted to profit and loss account. Draft the journal entries and prepare the
Balance Sheet after carrying out the terms of reconstruction (in vertical form).

7 P.T.O.
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Ceede BoD0d ¥ 3¢ Bveod 31.3.2015 Sord 8 $UNT0S =

e3xgd

(I) Bedd wotdssee Tenin wSTROMEL :
(1) BetOwss 80
Bedd woBmY
0 Tone eyl
(2) wogode3T 20N
DeFor3ID TONYy
(3) w9 BR[OV :
BRLTn 33,0 WNI)
wid), Bedd WoBTY (EOTACTS

(1) esried
(1) wed wow eind:
et 30 3
(2) @@ eynd:
1€ rHoFIHBrLD
ALET TN VLN
wotiesar BooRreL
B /N
wid) AL
VRS I3F BowoPAT é.%ﬁaeiﬁ%b 31.3.2015:

383 1 : Bedhd woBTY :
820520008 WoBTY
' 12,000 =333 3 Bedorieh I3 B¢t dwe. 10 Tod
25,000 me=mns; dedorieh =3, Bedrf de. 10 tod
DBONE 8007 Tonn 33 woBTY :
10,000 =»3% _é:i Betonied 8 3¢0rt dwe. 10 dod
20,000 mo3% g, Sedonieh I3 Bedrt dn. 10 dod
b33 Bedd woBTeY
83363 2 : AP Fne ey :
BT, Bowalxd Y
RPT 503
auu%,ma Tonue erzgnedd

8

SolNe <L B o)}

gL

3,00,000

15,659

1,20,000

15,110

4,50,769

4,00,562

13,481
13,705

9,366
13,655

4,50,769

oR.

1,20,000

2,50,000

1,00,000
2,00,000

3,00,000

10,882
4,777

15,659
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on.
82gd 3 : DeFarIP moorieh
WO I3neL 1,20,000
%53{, DeFara3 Toorieh W
63363 4 : BNBUHT 3,700 Wows) : S
medrich 14,552
Mda’ﬁ; Boolned 558
Wbl BRBICTT T wondy 15,110
MBI 5 : facesd Ao0Rnw:
odrod 5T 3,60,247
PO Hore LN 10,676
26300 16,645
SedRcToTNRNGD 12,994
%kl MOET 03 ried ~ 4,00,562
€338 6 : 12 oz esried 13,481
13,481
B8 7 : TR 13,705
20BN ~ 13,705
t30e8 8 S3T0 woesor 03
TOMTTO 9,366
9,366
é.%‘u;eﬁ I Mata SF: ) mgomq 13,521
Snth B s18edoIS). 134
13,665

FoSN0D 30308 [)S0® TWSH Tenn woBeY sass; mﬁcmaoob (LA ek ] dmd&ci% -
NP3 JHDT* UwR IREe O3RN,

MBAP Beooneds), B3 Bedrt B, 4 To3 mone IR, Bevorids), I3 Bedrt Ce. 6 Tod
sR3teI3Uc. & BEIT, B FYNJ0Z svsalechnuleso.

(a) oboRpcsTR BN WOLBS - Be. 1,57,201 383 Indes
(b) 8 IPTIaHE - Bw. 676 FBI ZRBEIeEE

(c) rOoPIBRYS - . 6,261 883 IRBEedd

(d) 2630088 - C. 4,045 383 IREEE

(€) eBREETCNTA — dw. 3,372 883 In@sesd

EERNE IDODLBY, woBTY 7838, svsaleczides). FRR0dRT mgs@l S0P Wadodd.
203BITUes0. S %3&&1@&3{ dwezd 3o FTed Tene VT SBSINE vEesd
S8F0DR) ©ow BATTE 3030020.

9 P.T.O.
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8.

Amatur Ltd. and Balappa Ltd. have agreed to amalgamate. A new company
called Amatur Balappa Ltd. with a nominal capital of 50,000 shares of
Rs. 100 each has been formed to take over the above concerns on 31.3.2014.
The following are the agreed Balance Sheets of the two companies :

Particulars

() Equity and Liabilities
(1) Share holders Fund :
Share Capital

Reserves and Surplus

(2) Non-Current Liabilities :

Long-term borrowings

(3) Current Liabilities :

Trade payables (creditors)

(II) Assets

Total Equity and Liabilities

(1) Non-Current Assets :

Fixed Assets

Tangible Assets

Non-current investments

(2) Current Assets :

Investments : Stock

Trade Receivables : Debtors

Cash and cash equivalents : Bank

Total Assets

Notes to Balance Sheet at 31.3.2014.

Note 1 : Share Capital
Shares of Rs. 100 each fully paid

Share Capital

10

Note Amatur Ltd. Balappa Ltd.
No. (Rs.) (Rs.)
15,00,000 10,00,000
2 6,00,000 4,00,000
3 4,00,000 3,00,000
- 1,00,000
25,00,000 18,00,000
25,00,000 18,00,000
4 13,00,000 9,00,000
3,00,000 1,00,000
4,00,000 3,00,000
3,00,000 4,00,000
2,00,000 1,00,000
25,00,000 18,000,000
Amatur Balappa
15,00,000 10,00,000
15,00,000 10,00,000
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Note 2 : Reserves and Surplus
Dividend Equalisation Fund
General Reserve

Reserve
Surplus : Credit balance in P& L A/c
Reserve and Surplus

Note 3 : Long-term Borrowings
Secured Loan
Unsecured Loan

Long-term borrowings

Note 4 : Tangible Assets
Land and Building
Plant and Machinery

Tangible Assets

Note 5 : Non-current Investments
In Govt. securities
In company shares

Non-current investments

23423/D 230

Amatur Balappa
1,00,000 -
2,00,000 2,00,000
3,00,000 2,00,000
3,00,000 2,00,000
6,00,000 4,00,000
4,00,000 -

- 3,00,000
4,00,000 3,00,000
8,00,000 5,00,000
5,00,000 4,00,000

13,00,000 9,00,000
3,00,000 -

- 1,00,000
3,00,000 1,060,000

Ascertain the Purchase Consideration payable to each of the above companies
and prepare the Balance Sheet of new company (vertical form).

308300 OEIE' Zane (ALUE ket Bozdnih a@cdme{,w A0, BRATDT
03T z)w% OE* ToID 2oR0 TUReIND. BA3 0300 VROTIIH WoBTY

50,000 Bedoniehy T3 3¢0F w3¢3 Se. 100 Bod. ¥Rt3nsd Tere Wedsl 93T Bomdad IR

;"%% 31.3.2014 gord F¥Nsed 2cH38 :

IS

(I) 3edd woBY Hone %R0 :
{1} 3ecLoweUd & :
3e00 WoR= e
AR TN wayd
(2) 290330 wTewWRBRY
DeFar3p morieh
(3) 508 BBROIND :

BRES TR asazsma W) (mai)mddo)

zuéd% Bet) WoRBDY HantA mmaae

11

B3 emety wov3,
0. (dw) (0%.)

1 1500,000  10,00,000

2 6,00,000 4,00,000

3 4,00,000 3,00,000

- 1,00,000

25,00,000  18,00,000

25,00,000  18,00,000

P.T.O.
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B3 LRRAR W,
o Ro. . (3) (9.
() esried :
(1) 2509 var wanish:
Rees J0e3rIR 4 13,00,000 9,00,000
58 VOB HOBIBRWL 5 3,00,000 1,00,000
(2} w8 eried:
eER) (FTBOTIED) 4,00,000 3,00,000
2023557 0B (FOMOTY) 3,00,000 4,00,000
B (23,08 dewy) 2,00,000 1,00,000
25,00,000 18,00,000
oEedt 33EMVN F0w0dE BIpirieh 31.3.2014.
B0bIETO WY,
e3¢5 1 : Pedd woEseY
3,3 8608 SRS B, 100 Sod 15,00,000  10,00,000
| Bedo woBd=Y  15,00,000  10,00,000
e5ed 2 1 ) Bt oy
€03 30BBRI Y 1,00,000 -
wR0F, Y 2,00,000  2,00,000
| 3,00,000  2,00,000
etg w8 (credit) 3,00,000  2,00,000
M wone ooy 6,00,000  4,00,000
¢35 3 : DeFAFrSD mON :
R00§3 w0 4,00,000 -
830033 w0 - 3,00,000
Dearsh mondd  4,00,000  3,00,000
38 4 : e eRnv:
R Torte BLBRL 8,00,000  5,00,000
002 a,eTTT R 5,00,000  4,00,000
Reess uyndd 13,00,000  9,00,000
B33 5 : wed vor roseSelrdy : ‘
A50rD Betoneh 3,00,000 -
03 Betonsh - 1,00,000
1,00,000

3,00,000

20ed8 b3 6gdy 0B FoSIArieh DVD ogRITobRY, Fordd HBOVD Borle BRI
FoIob uEess B3Faby, Low CRTEA 30dR020.

12
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9. The following is the Balance Sheet of Akash Ltd. as on 31.3.2014 :

Particulars
(I) Equity and Liabilities
(1) Share holders Fund :
Share Capital
Réserve and Surplus
(2) Non-current Liabilities :
Long-term borrowings

Other Long-term Liabilities
(Provident Fund)

(3} Current Liabilities :
Trade payables
Total Equity and Liability

{II) Assets
(1) Non-Current Assets :
Fixed assets
Tangible assets
Intangible assets : Goodwill
(2} Current Assets :
Current Investments
Inventories : Stock
Trade Receivables : Debtors
Cash and cash equivalents : Bank

Total Assets

Notes to the Balance Sheet at 31,.3.2014 :

Note 1 : Share Capital

10,0.00_ Equity shares of Rs. 20 each fully paid

Share Capital

13

Amount
2,00,000
20,000

1,00,000

8,000

21,000

3,49,000

2,09,000
30,000

10,000
50,000
30,000
20,000

3,49,000

Rs.

2,00,000

2,00,000

P.T.O.
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Rs.
Note 2 : Reserves and Surplus :
Insurance Fund 3,000
Accident Compensation Fund 7,000 10,000
Surplus : Credit balance P& L A/c 10,000
Reserves and Surplus 20,000
Note 3 : Long term Borrowings
6% Debentures 60,000
8% Debentures 40,000
Long-term Borrowings 1,00,000
Note 4 : Current Liabilities
Trade Payables 21,000
Note 5 : Tangible Assets :
Building 80,000
Machinery 1,20,000
Furniture 9,000
Tangible Assets 2,09,000

Akash Ltd. is absorbed by Bharat Ltd. on the above date, the consideration
being the taking of the liabilities; the repayment of 6% debentures at a
premium of 10%; the discharge of 8% debentures at a premium of 10% by the
issue of 9% mortgage debentures in the Bharat Ltd. and payment of Rs. 10
per share in cash and the exchange of 3 fully paid of Rs. 10 shares in the
Bharat Ltd. at the market price of Rs. 12 per share for every 2 shares in the
Akash Ltd.

Show the necessary accounts in Akash Ltd. (Realisation account,
shareholders account, purchasing company account) and pass the necessary
entries in the books of Bharat Ltd. (Amalgamation is the nature of purchase)

14
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458 930 ¢pos B3¥ Hveos 31.3.2014 dordd & F¢NT03d :

£33¢9 zo. Gp.
(I) Bedb woBTY Forio w2/ :
(1) BeowUT B
Bet) WoENY _ 1 2,00,000
0B one oy 2 20,000
(2) wd vou Bemreddne :
DETFIFID Teoneh 3 1,00,000
930 DeFrIP moorisd
(ot FHow) 8,000
(3) @ BesredIried :
Rt ate V) 4 21,000
2b3) WOBTY FJone ts:sawaoaﬁdo m
(1) eyrieo:
(1) 298 e &nidh:
Rees oe4ne 5 2,09,000
eriacs A0 (3edr D) 30,000
2) w0 syrds:
1599 rHoFIHBred 10,000
WG : RTTON 50,000
mdSﬁé FON : FIOMTTL 30,000
Snw> w0888, 20,000
L), eI m

15 P.T.O.
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wEosS 3Bt ZowodIT eSS edried 31.3.2014:

o,
b.?ﬁas's 1 : 800 WOBJWY -
10,000 mdmﬁé Bedonidd I3 Bedrt B, 20 dod Zpe 2,00,000
pluArTevonrlsia)
Begd OB " 2,00,000
363 2 : Toak, DO S o : -
3R Y 3,000
D3 0D 7,000 10,000
933 373 (credit) 10,000
wid), A Borie s T 20,000
(25 3 : DeFarSd WOND: -
6% mOT B30 60,000
8% mooE IInYo 40,000
whd), DezFar3D seoned __W
535 4 1 1Y TERLRDID ! -
209N 21,000
€333 5 ¢ teeds eynd:
[I3T3D 80,000
Qboéfgeﬁﬁdmm}o 1,20,000
SeBpeIToHNRY 9,000
Roewss esyried ~ 2,09,000

3508 BoD LTT0S FoBV0I SedeN. 5903 ALIEE BSTo $HB AoEIEE VIO DO
3027 aDBY, FABED 3YNT0S 2w PN,

3593 F0IV0D wneLRdRYRY, 3BOBRR), @0, eS8 FoIVOD 6% T TINYT), BSE
103 .aea)oi)odos ToSdR3R) mone 8% mow I, rwab 23903 3030 9% Bes O
wsmm Bes@s 100 wemabocsos 2009030 INAISE). 303 FOSQ BTe3 goxa it =8
2edR G, 10 Tod Snch B Je@esy. vl um3 BosSAoH HVR> Beoondrt U3
FomRad By BedonYdsy, dedsesd I3 BcdI WS de. 10 dod 660 Spdos, g da.
10 Tod &Bd Stz e de. 12 dod WS BerEues.

5598 FoBVOD RITRY, (Realisation a/c) Snoets 093, FeCOEICT a3, DOH IR
F030 wednYRy, VoD Sonp P03 ToBVOHL FRTBY, Teecwd DASRYR), WO
(HOeQeTTN abbea 28RN
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10. From the following ledger balances of the Rani Channamma Bank Bailhongal,
prepare the Balance Sheet as on 31.3.2015 and also the relevant schedules :

23423/D 230

Particulars Dr. Cr.

Share Capital 20,000 shares of Rs. 10 each - 2,00,000
Statutory Reserve - 1,50,000
Net Profit for the year (before appropriation) - 2,50,000
Profit and Loss a/c (1.4.2014) - 2,00,000
Current Accounts - 6,80,000
Savings Bank Account - 2,20,000
Fixed Deposit - 3,00,000
Borrowing from other Banks - 1,60,000
Bills Payable - 40,000
Cash in hand 2,00,000 -
Cash with RBI 50,000 -
Cash with other Banks 2,40,000 -
Money at call and short notice 1,10,000 -
Investment in Govt. Securities 1,40,000 -
Investment in Gold 40,000 -
Bills purchased and discounted 3,00,000
Cash credits and overdrafts 4,75,000
Term Loan 5,25,000
Premises (cost Rs. 1,20,000) 90,000
Furniture (cost Rs. 50,000) 30,000

22,00,000  22,00,000

Other information :

{a) Claims against the bank not acknowledged as debts Rs. 20,000.

(b) Acceptances and Endorsements amounte.. .0 Rs. 1,60,000.

(c) Bills for collection amounted to Rs. 1,50,000.
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Ooed WBBR, w080 W BANUs BWC FINT IRk LEdR w038 vk BT
31.3.2015 Fod wanie 30w ét&%dﬁddgl cfovinte)de

AI0NLL wBI DF

B¢t worsmeY (20,000 Bevbonsh I3 Beds Wi dwe. 10 Cod) - 2,600,000
32 0 F02s0d> Y - 1,50,000
T3 IZFT Uy (FoWDRT JeTen) - 2,50,000
023 o o3 (1.4.2014) - 2,00,000
W8 a3 - 6,80,000
VIO a3 - 2,20,000
IwE3 de) - 3,00,000
WR,0BINY0B 0 IABRY, - 1,60,000
ﬁmﬂ:&ﬁé ooy - 40,000
BB B 2,00,000 -
INB> DT w08 R0BINBY, 50,000 -
WROBONES SRTO 2,40,000 -
FBman &$03C0NRS Too 1,10,000 -
rOoZSHried FTaFD FB) 0L 1,40,000 -
rO0ZITTIL WOMRSHEE, 40,000 -
BooBNYTY, o0 DORIRY, 3,00,000

sSrv IS o 4,75,000

DegFarSY seorieh 5,25,000

9S5003 (Soee e dne. 1,20,000) 90,000
Sedeszsansdh (Fee Wa da. 50,000) 30,000

22,00,000 22,00,000

623&53 S0&a3 :
(@) w308 Doedd 2O, BFYNWD BUT W0 NI, 0T AF3 B,
gwe. 20,000.

(b)  2¢590 B3 B3y B, 1,60,000.
(€) TRAOMA woE 3008 Be. 1,50,000.

18




AR

11.

SECTION - D/apen- &
Case study (Compulsory) :
%ﬁd;a eq,oms (Goﬁo a;é) :
e
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| (15)

From the following Balance Sheets s on 31.3.2015 and the information given
below, prepare the Consolidated Balance Sheet of H Ltd. and S Ltd. as on

31.3.2015 (in vertical form)

Particulars Note
No.

(I} Equity and Liabilities
(1} Share holder Fund :
Share Capital 1
Reserves and Surplus_ 2
(2) Non-Current Liabilities :
Long-term borrowings : 12% Debentures
(3) Current Liabilities :
Trade payables 3
Total Equity and Liabilities

(If) Assets

(1) Non-Current Assets :

Tangible Fixed Assets 4
~ Intangible Fixed Assets : Goodwill

Non-current investments in S Ltd. 5

{2) Current Assets :
Inventories : Debtors
Trade Receivables -6
Cash and cash equivalents : Bank

Total Assets

19

H Ltd. S Ltd.

(Rs.) (Rs.)
3,00,000  2,00,000
1,15,000 95,000

10,00,000 -

75,000 87,500
5,90,000  3,82,500
1,50,000 1,225,000
50,000  1,00,000
2,05,000 30,000
75,000 37,500
1,00,000 70,000
10,000 20,000
5,90,000  3,82,500
P.T.O.
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Notes to Balance Sheet as at 31.3.2015:

Note 1 : Share Capital
Shares of Rs. 100 each fully paid
Share Capital
Note 2 : Reserves and Surplus-
General Reserve
Surplus Balance (1.4.2014)}
Profit for the year 2014-15
Reserve and Siirplus
Note 3 : Trade Payables
Sundry Creditors
Bilis Payable
Trade Payables
Note 4 : Tangible Fixed Assets
Building
Machinery
Tangible Fixed Assets
Note 5 : Non-current Investments
1,500 shares in S Ltd. (Cost of acquisition)
In Government Securities
Non-current investments
Note 6 : Trade Receivables
Sundry Debtors
- Bills Receivables

Trade Receivables

H Ltd. S Ltd.
3,00,000 2,00,000
3,00,000 2,00,000
30,000 20,000
35,000 30,000
50,000 45,000
1,15,000 95,000
60,000 87,500
15,000 -
75,000 87,500
1,00,000 75,000
50,000 50,000
1,50,000 1,25,000
1,80,000 -
25,000 30,000
2,05,000 30,000
1,00,000 60,000
- 10,000
1,00,000 70,000

{a) H Ltd. acquired the shares in S Ltd. on 1.8.2014.
(b} The General Reserve of S Ltd. on 1.4,2014 was Rs. 17,000.
(c} Bills Receivable of S Ltd. were all accepted by H Ltd.

(d) Debtors of S Ltd. included the atiount of Rs. 10,000 for suppty of goods

to H Ltd.

Calculate the cost of goodwill on consolidation if the cost of shares acquired in

S Ltd. is 1500 shares for Rs. 2,00,000.
20
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31 ABE U TIF Fone IPTT Snbioleodd BmRos 31.3.2015 Cod Bomd
H Bwa), %03 ®ore 8039 S 3Ba008 R040d $0RE3 uFes Tadoba vow UAISY,
300002 :

230ried 838 H S
(B4.) (an)

(I) Bedd woBRY FTonn BTWRDNW
(1) Betowodd Bes :

B0 VOB

[y

3,00,000  2,00,000
20 Forie oot 2 1,15000 95,000
(2) 2Qabe3T R Bieh :
DEFESD MOTid : 12% med TN 10,00,000 -
(3) 5 BoBMOHL :

EClvjate V] 3 75,000 87,500

2bd) Be0D WORTY BN BTN/ 5,90,000 3,82,500

(1) esried

(1) wd vor eynd:

rRes 4T eyt 4 150,000  1,25,000

ORHES0 30 BN (3edrPe)) 50,000  1,00,000

152903630 RooTIEreh S FosNobY. 5  2,05,000 30,000
(2) iaag 370 |

DemE) 75,000 37,500

2033, BooBirieh 6  1,00,000 70,000

Shwo 10,000 20,000

5,90,000 3,82,500

21 P.T.O.
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wgess I3t TowodAT 3383 3 1.3.2015:

e33gd 1 ¢ Bed) woBTY
Swaeseds I8 Zedrt S 100 Jod e SowadbseNd
u%écd) OB
&35&83 2 : 500083, B Bt ey
TR, A]
eyt 3 (= 1.4.2014)
wd SRR ey (2014-15
u%ao&g}gﬁﬁ Bonse ey’
63269 3 3,390 SRBLCTIT W) !
prlag eV
pBeT0 BOBNRYY

e35g8 4 1 et z%pa;mm:
VBRTB)
0d032,eBBTR
b3y Hecss 63
8358 5 1 wed Len roozeIene
1,500 (S Ltd. sozdod devondd)
30590 28,08NYY,
2640, 1508 wor RIS
83383 6 wocsel méw—aﬁ WA
HOMCTO
WO 3E, BooRrieh
244) 20WETT TyHD [ARTAY: V)

(a) H 803d0dn S om0 Becoriv Brweos 1.8.2014 dod DO,

IR

H Ltd. S Ltd.
3,00,000  2,00,000
3,00,000 2,00,000
30,000 20,000
35,000 30,000
50,000 45,000
1,15,000 95,000
60,000 87,500
15,000 -
75,000 87,500
1,00,000 75,000
50,000 50,000
150,000 1,25,000
1,80,000 -
25,000 30,000
2,05,000 30,000
1,00,000 60,000
- 10,000
1,00,000 70,000

(b) Beow 1.4.2014 Bord S FoB FIT, Fowod wwedadd dw. 17,000 2zl 9.
(€} S s03od 2O WIIT, Boodrish H sozdod 3Bdoen wiiesand.

(d) S gozIAoD »ordd de. 10,000 H Fosob FBoDOT WIWeTNT.
woi> 3¢ H 3030 S sosdob Sedorigsy 1500 Betones), OR. 2,00,0008, DDEDITT

B0,cReg3 dedradPou eIl 50> HBOXD.
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1

Reg. No.

IV Semester B.Com.2 Degree Examination, May 2016

Paper - II : BUSINESS STATISTICS - II

Time : 3 Hours] [Max. Marks : 80

Instructions :
1) Mathematical tables will be supplied on request.

2) Non-programmable simple _cdlcu!ator is allowed.
SECTION - A/ &R — @
1. Answer any ten of the following : (10 x 2 = 20)
Wemad 83 JZridrt ou300:
(a) Define mutually exclusive events.
BORT-DSB0T PLIVAYRO, 3,30,

(b) What do you mean by Random Variable™
STYT BOT H0TTERO?

(c) If E(X)=5,find E4X + 2).
E(X)=5, 988, E(4X + 2)3 136 308 HBowD.
(d) If mean of the Binomial distribution is 2 and P = %, find the value of ‘n’.

DSBS HITHob $0E0 2 Iy P :% @R, n B 256 F0B0 HRWD.

{¢) Under what conditions Binomial distribution tend to Poisson
distribution? ' ‘
adna dueogsndomen ddecd HITHodw Fpemn® A3THBOL IJIN werbFHwo?
() In a Poisson distribution P[X = 2] = P[X = 3], find P[X = 4].
2000 Sdpemen® AIoBabd, P[X =2]=P[X =3] 9d8, P[X =4]w uS o
&BOWD.

1 P.T.O.
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{g) What are the limits of normal variate?
SRBRTY, BOFE WIrYeFHR)?

(h) Define standard normal variate. -
dob3 IR, BeTE T, D,

(i)  What do you mean by statistical quality control?
70 rHesobd- Hodog e Honderd?

() If C=1, write down the lower and upper control limits for C-chart.

C=1 An, C- B3TUE NS Berie eds dadbodm (LCL, UCL)nea, sord
&B0D. '

(k) Raju hits a target 3 times out of 5 shots. Find his probability of missing

the target. _
20T 5 wWed 1omd BeBonS Job3Ed 309 wobEedaindd, ¢33 rHd
3ewdde RS Bogisdeodd aR)?

() ~ Give one example each for Binomial variate and Poisson variate.
IR0 BT Fre Fpctent BosnY ;1;303.0066‘, 2owe0n) SVRBTH dekD.

SECTION - B/ayen - w

Answer any three of the following : {3 x5 =15)
wemd L0, eugd20 : |

2.  Find the Mathematical Expectation for X’ from the following data :
3YNT I0B1 nedseds DO bR, Ford HBOWD :
X: 0 1 2
P{x): 0.25 050 0.25

3. The number of mistakes made by a typist follows a Poisson distribution with
mean 3. Find the probability that he makes (@) no mistakes (b) at least one
mistake. = - ‘

Wy 0YmT SRwoS 3¢ Boa) Z0RD 3 AT BpcTent OICE oI, RIFOIT.
630 (a) SRy SRBE (b) TR 2,000 3T) It sordSReadsBabrl), F0B) HBOWD.

((((( -

2
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4.

If X’ is a normal variate with mean 32 and standard deviation 4. Find
(a) P[X <40]

(b} P[X >32]

X' 30930 32 %) DaI-IBOF 4 I SWSHY, BOTTNGS

(@) P[X <40] mne

(b}  P[X 2> 32] ri¢ 13¢5 Sordo &Bond.

In a textile mill at regular intervalé., cloth is inspécted for knitting defects. The

results are recorded as below :
m{’ 3ad3023 2,080 I I3 K)@s‘:% u3fod @odoud msdcm a?ea?%ab m;jagsscm

21, SOe§ReRN B SUNF03 BRIV TEDARNS :

Sample Number : 1 23456 7 8 9 10
Rooas Roa, :

Defects/sq.metre: c1143101¢02
33 BT0 20e30TITOT BAFIND :

Find the control limits for C-chart.
‘C’- B3 Te3w oo, :narwagt FoRD HROLDY.

In a city, 12% people read newspaper A, 25% people read newspaper B and
8% people read both theses newspapers. Find the probability that a randomly

selected person reads at least one of these newspapers.

2000 BB, 12% T BRIFE AR, 25% B BISYE By, K 8%

- DOBR ﬁﬁw%ﬁmﬁb 2530338, eﬁ?.gfmh sad,0dns J3 B‘c DuBYINYS. 6’&% 2OBWTITTR

a,m;s .aozdd&cui):-!(n)m JOBO &s&o&)b

3 P.T.O.
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SECTION ~ C/%pn - 8

Answer any two questions : {2 x 15 = 30)
wWems DOAY, 5u3020 :
7. (a) State the properties of Normal distribution. (S}

(b)

(b)

()

%mana% 30T mm;s;brmag 3920.

The weekly wages of 200 factory workers is assumed to be normal with
mean Rs. 600 and standard deviation of Rs. 20. Find the number of
workers having income (i} above Rs. 650 (ii) between Rs. 550 and
Rs. 650. (10)

200 F0RMTB0LS %ol Foaserdohd S0 B0eRD Se3ns) de. 600 Fenis InTE
QBew BR. 20 {003 @mzbaags .‘I):!d:?-st;d.)azl #RORDRDSToD Pad3 (i) Be. 650 do3
d)cegaé.iz_’ (i) 0n. S50 FA) Te. 6500 TR SIS QLT FeRMUT ﬁoa%oi)dzl
0By HLBOWD. ‘

If V(X)=9 and E(X?*)=25. Find E(X). {3)
ViX)=9 ®nie E(X?) =25 98. E(X)3 e 506> H&B0D.
Probability that ‘A’ solves a problem is 1/3 and that B solves it is 2/3.

Find the probability that (i) none solves (ii) at least one solves the
problem. (S)

%000 STIR), DB 3023:5&6_01)3 AR % 9. wwde eI, BT oS Oeadd

2 . . o . 2
Bt 3 2?0, () cdndeyd DAade FI (i) IR wuPECe BADI

B0y ead3odr), Fowd HBOoWD.
In a lottery, there are 1000 tickets costing Rs. 1 each. There is one first

prize worth Rs. 100, two second prizes worth Rs. 20 each and 10 third
prizes worth Rs. 10 each. Find the expected loss in buying one ticket. {7)

1000 e38efridcos entidodrd) J30le0a) E38ES Swd ¢ Be. 1 . uhridd)
Sevoge wBIINT FFoIS 1 L3881 . 100 wBVRFIL. HoTSe VRSP
Srodnz 2 esebnon J3aleond Ce. 20 WRBPVIS. oo wRIEPT
Sdodo3 10 esdeonent Zdaleowd, de. 10 LESHEIE. womd CAED e
B TTO0T BT HOEFTBOR, TR B0uD.

4
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- 9. (a) Ifmean and variance of a Binomial distribution are 4 and 3 respectively,
find the values of ‘n’ and p’. {3)
200> DIE JIoFHod 030 ) Jued eRLEITN 4 I 3 WWT, ‘1’ DR

p 'Y 13 Ford HLROWLD.

(b) In a college 60% students are girls. In a random sample of 5 students,
find the probability that (i) 4 are girls (ii} all five are girls. (5)
2000 Federind, BorddAads B0k 60% %, W@dbﬂ‘ﬁamod 5 BNV,

(i) 4 FBNODTO (i) DR R BBNDHEL RS BoRIBVealobR) ForB> B,

(c) It is known by experience that 2% articles manufactured by a firm are
defective. Articles are supplied in packets of 50 each. (7N

(i What is the probability that a randomly selected packet is free of
defective articles?

(iij Among 10,000 packets, how many are expected to be free of
defective articles.

2080 RVPSBT evdsiralectd adnbRIT Hudgndd 2% sudgneh BAE3ood
3RR0UZS. B oudgndsy 500 Iwindd Jedrao (i) esAFseN eabyBecd
FEIfoLITVT ew3FYY, BAFINGD gode RO Boy3Reodd HRT? (i) qoI@
10,000 33pned o), Sedfindd sSamdne aote acLIoIFHhrieans?

10. (a) Define Probability. State the addition theorem of probability for two
mutually exclusive and not-mutually exclusive events. (5)

Jo3deoddod T SRRO. HVB FURY ASWE P9, FoZP IFFIVB
Fearion Soyseodbdod ZovoR TFocabId) Bedd,
(b} An electric company produces fuses. The following table contains the

data on number of defective fuses, when 10 samples of 100 units each
were inspected. Construct the np chart and comment.

BRFNVE), 304PORT 200> RSB oAb, 100 aedEFrd 10 my0TerrvR),
3cd00B o F9NT0S BAFINVR) WA, ‘np’ BT, ST wBos,0

3920,
roos) Joa; : . .
No. of defectives : 4 2 01 3 2 0 C 4 1
e dre Hoal, :

S P.T.O.
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11.

SECTION - D/a%nn~ &

Case study Analysis (Compulsory) :

FF00 vgobs e (Yuaod B) :

Construct X -chart and R-chart for the

conclusion.

15

following data and state your

BINGS a8, X -23gats gy R-ui3Buirien) 0uad 0k Ay Anrabis B¢00,

Sample No.

AT Hoaj,
1 27
2 25
3 16
4 18
5 16
6 06
7 43
8 12

22
24
24
12
27

- 18
- 19

09

Sample values =
_ AGBeE Wned

28
26

-20

21
20
14
36
24

(Given for n =5, A, =0.577, D, =0, D, = 2.115).
- (dwby,30n8: n = 5, 4, = 0.577, D, = 0, D, = 2.115)

10

14
18
13
16 -
26

28

.20

12
32
31

17
12

32

30
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Reg. No.

IV Semester B.Com.2 Degree Examination, May 2016
(Regular and Repeaters)
FUNDAMENTALS OF FINANCIAL MANAGEMENT

Time : 3 Hours)| _ [Max. Marks : 80

Instructions/3RAN :

1) Attempt all the Sections according to internal choice.
&0308 80D JEFI0 DR, TN oVFOI0,

2) Use of simple calculator is allowed.
AOY 53 eD STV W5eL OROSOITRAD.

3) Section-D is compulsory.
I8 a'agaimnd'

SECTION - A/dyen - o
1. Answer any ten of the following : {10 x 2 = 20)
wesar ®3F U300 :
(a) What is profit maximization?
ey NdedeBvn Howder?

(b} Mention any two modern objectives of financial management.
BHTAT ASFBHOL 0IRJ)TeE0RA HOB SROVT suEeBrids) Beud.

{c) Give the formula for NPV.
.39 ; FoB LRIV BAIFF), WB0D.

(d) What is the broader concept of capitalization?
QTP B WOBTHVCTTN HoFdedd?

(e} What is watered stock?
et 220WIe¥ DOTTERO?

()  Write any four factors affecting capital structure.
woBRY Cudab et FeS Detba Fee), ¥oBRYR) WD

(g What do you mean by specific cost of capitél?
NPrR worzRd S SoTBeR?

1 P.T.O.
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(h) Write any four features of working capital,
BOROVT WOBTYR e, cﬁmd@d& [Aleloibio)

(ij ~ What is net working capital?
OS¢ BOBAINS woBmY HoddeRy?

() Find out the capitalization amount if the earnings are Rs. 1,25,000 and
average rate of return is 25%.

wordy e figdadn dw. 1,25,000 ) B0esd nYvdob @O 25% o), 2ad,
WOBTIPTTET B03 Sw3e?
(k) The EPS is Rs. 20. And the current market price of share is Rs. 150.

Calculate the cost of equity capital.
T3 e rivg dw. 20 98, uHny 12 IR WS de. 150 2. B1583 woreY

523 B0,

() What is point of indifference?
$2033) T3 Dordd DoETerD?

SECTION - B/2weri - w
Answer any three of the following : (3 x5 = 15)
(ALS T A ] 000Y, 6u3020 :
2. Distinguish between profit maximization and wealth maximization,
v rid&esdn SI) 0B nB&evTeane 5o T 3NYR), wI0D.

3.  Briefly explain the internal factors influencing the finance decisions.
BTV VFoLnd Doees TS Detos 80307 wodndwy »oﬁzﬁmﬁ DI00.

4.  Briefly discuss the types of working capital.
BoR0IVT WOBTYE S5a0nYR), Foggden e

5. A company has sales amounting to Rs. 27,00,000, variable costs
Rs.12,00,000 and fixed costs of Rs. 7,50,000. It has 10% Debentures worth of
Rs. 45,00,000. Calculate operating leverage and financial leverage.
wORD FoBAAI wid), B0k $03 dre. 27,00,000, wrEoerds :st gw. 12,00,000 )

1Y e On. 7,50,000 nesy, Brodd. vrd 10% mOIZNe de. 45,00,000 nesy,
MOM ASFB5 A% ) Beowodd 3 § J320.

6. Mahantesth Co. Ltd. issued 20,000 - 10% preference shares of Rs. 100 each.
The issue cost is 2%. Find out the cost of preference share capital if (a) issued
at premium of 10% (b} issued at discount of 5%. A
SoF20ded Fo. A, B, 100 S0 BeSab 20,000 933 3, Besors), O, 10 Sod BArond

SooBd. Doridod w3 Be. 2 Tags. o Beaonds), wod Jed? (a) Fe. 10 Cod ©pT Wi
303y (b) Be. 5 Yod ZeeBobod ARNE IRBE3 TRB3 Besd [T Fomd LRV,

2
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SECTION - C/ &% - 3

Answer any two of the following : (2 x 15 = 30)
NSV wevald SOBY, eu3 00 !

7. What is financial management? Explain the responsibilities of a finance
manager towards various stakeholders.

B06% ISFBRB 20TTeR? Bty @hzedaln AN ¢Rsdt BR0VTLT &aaﬂm&ﬂﬁdﬁi
JIDAD.

8. What is over-capitalization? Explain its causes and effects.
@3¢ WOB=IVETTH H0WTER? VTT FaTwNnea), S03) SJ0TIoNYR), D300,

9. The following is the Balance Sheet of PK Co. Ltd. as on 31st March, 2015 :
Liabilities and Assets Amount

(a) Liabilities : _
15,000 equity shares of Rs. 100 each 15,000,000

Share Premium ' 5,00,000
Sundry Creditors 5,00,000
Total 25,00,000

(b) Assets:
Fixed Assets 20,00,000
Current Assets 5,00,000

Total  25,00,000

The normal rate of return in the industry is 10%. Find out the capitalization
status of the company if the earnings available to equity shareholders are :
(i) Rs. 1,50,000 (ii) Rs. 2,50,000 and (iii} Rs. 2,00,000.

208 31 FRwe 2015 Comdd VG0S &.3. ToBD AoHIIB 8 B3 S SYNTosd :
BABROFNLL Fo3) epried 03
()  RoSmOIRL: |
15,000 w0, Bedories dn. 1008 v B3¢ 15,00,000

Bedd edoodo | 5,00,000
230 mond - 5,00,000
2b3), A 25,00,000

3 P.T.O.
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10.

(b} esrieh
4T e3rie ~20,00,000
©0 esyrieh 5,00,000

we, 125,00,000
¥ ouisbobd, AR %8 ToP Be 10 SaP Fosdabo IR, Bccomevon
UL ReVRLBIDRE NOSNUy towd Jed () de. 1,50,000 (i) Ge. 2,50,000 s
(iii) . 2,00,000 riwaNGY, BodaD LOBTVEBTRE 2301, FOB) 5030,

Akshata Co. Ltd. has the following capital structure :

Equity share capital {(4,00,000 shares of Rs. 10 each) - Rs. 40,00,000
6% Preference Share Capital — Rs. 10,00,000

8% Debentures — Rs. 30,00,000

The market price of equity is Rs. 40 per share. The company is expected to
pay dividend of Rs. 4 per share which grows @ 8%.

(a) Calculate weighted average cost of capital of existing capital structure if
the company is under 40% tax slab.

(b) Also calculate the New Weighted Average cost of capital if company
raises additional Rs. 20,00,000 debt by issue of 10% debentures.

This results in increase in expected equity dividend of Rs. 6 per share
maintaining same growth rate of dividend but market price will come down to
Rs. 30 per share.

8T F0. A.3) B8 FYNTod WorR=Y Dol Beotd |
BRRT; Bevd woBIeY - de. 40,00,000
(S, 10 S WeSod 4,00,000 Begorieh)

6% - B3, Becd wored - B, 10,00,000

8% - meddnedy - dn. 30,00,000
IRF, Bedbrid Sndozed, wSaln I3 Bedrt. de. 40 9l FoIDaiw, 33 RIRT, Feort

' 8.4 TR, @708 JerdS By Iona), o de. 8 dxgiddﬁoobaﬂo\jd.

4
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(b)

23425/D 250

Fo3Radn Je 40 OR, 391 wa;iamosmoﬁ, :b’dﬁz)d)d woReY Judod Ioend
3070 WoOBTY :swgaglsom SBoDY.

word Sed FoIVadw FeSOdRN de. 10 - DoIINY oot woBIYIT),
gw. 20,00,000 nex), 3or&adt, sosob Bz 30030 3080 woBmed Pu, vordd
%8000, BHED woBSY KorjEBomaN TRPE, BeO8 entgecdsy I3 Bedrt Ok, 6%,
B30 SR F B0 Bsle euddnda. e5s SRoHFe SSodn J3 Bednt da. 303
29003V,

SECTION — D/ en — @

Case study - Compulsory question : {1 x 15 = 15)
IF0n vy obs - deaohd B

Sharan Co. Ltd. has the following cost structure of its product ‘S’. Its level of
activity is 40,000 units of production. You are required to estimate the
working capital required for financing this level of activity :

Elements of cost Amt. per
unit (Rs.)
Raw-material 35
Direct Labour 20
Overhead 30
Total cost of Production 85
Add : Profit 15
Selling Price 100

Additional information :

(a)

(b)
()
(d)
(e)
{®
(8)

Raw materials are in stock on an average for 1 month. Materials are in
process on an average 1/2 month. Finished goods are in stock on
average for 1 month.

Credit allowed by suppliers is 1 month.

Credit allowed to debtors is 2 months.

Lag in payment of wages is 1% weeks.

Lag in payment of overhead expenses is 1 month
Y4 of output is sold on cash basis.

Cash in hand and cash at bank is expected to be Rs. 10,000.

You are required to prepare the statement showing working capital needed
with necessary working notes.

5 P.T.O.
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B0 03D AobAII) 33, ov3d ‘ax" g 3&‘56 Oud o $YNT03B. FosAadw 40,000
aledes®rie FUSITH ww&pw R, mdi&! Wesorbd  doRahos ?.)odaw:dab

LoDazdTen bwoaf..oaﬁd
;Szid FARYAN a1 §) 2,030
et
St
sm“m:bf)rwb ow. 35
deood ved gR. 20
W3 323 on oR. 30
u&% wa'%dm dz% on. 85
T 303 gn. 15
P03 ¥ de. 100
'a@*a‘d Sseédriely ;

(@) 82@ A0BONEL 3oeFd 1 3onert rLSR), BT v, 3adNdE B30 Ao R,
...nca.a& 1/2 3onieb 9. Fpar ABw 3gBoneh 30930 1 donex) Joriz 2.

(b)  TPYITUR Dedr UTD BB 1 Sorieh.
() mMEEOR derdoI ourId eSHadw 2 Soricorieh.

(d) BROOLR) 1% ONYR) dowmoh SABLE.

(e) BIC SRR 1 3orieh IBIPB BB,

() evsm@Eabe 1/4 dat)Snich RR0II.

(8) 3 By 303 w08ndad Bey . 10,000rie w0tedd.

FoI w3z SRS BoRodnS wordmey eedzos :s’oaSQbﬁ) RRT 303 HICrideodn
ABRRVL0.
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IV Semester B.Com.2 Degree Examination, May 2016
COMPUTER APPLICATIONS IN BUSINESS
(Regular)
Paper III
Time : 3 Hours] {(Max. Marks : 80

Instructions: 1. All sections are compulsory, subject to internal choice.

2. Section D is compulsory.

SECTION A
1. Answer any ten questions. Each question carries 2 marks. {10 x 2 = 20)
(a} List any two advantages of algorithm.

(b} Draw the flow chart symbols used for deciston making and processing
Operation.

(c) What do you mean by keywords? Give exampie.
(d) Write the syntax of scan f ( } statement used in C.
(e) Distinguish between while and do while loop in G.
(ff} What is uploading and downloading?

(g Expand HTTP and URL.

(h) Name any four payment cards.

(i) Define cyber Law.

) What is POS?

(k) What do you mean by web based marketing?

(} Write any four websites of web based marketing.
SECTION B
Answer any three questions. Each question carries 5 marks. (3x5=15)

2.  Write an algorithm and draw a flow chart to check the person is eligible to
vote or not.

3. Describe switch statement with syntax and example.

1 P.T.O.
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4,

10.

11.

1
(1+r)"’

Write a C program to calculate present value using a formula PV =

Explain the services offered by internet.

Describe the features of Internet Banking.

SECTION C.
Answer any two of the following questions. Each question carries 15 marks.
(2 x 15 = 3Q)

Explain in detail the structure of C program and demonstrate with a sample C
program.

List the merits and demerits of using Internet.
Discuss the different features of web based marketing.

Write short notes on
(a) Internet security
(b) Forloopin C

{c) EFT

SECTION D
Compulsory question {Case study): (1 %15 = 15)

Write a C program to hike salary of an employee depending upon the following
conditions.

(a) if service is below 10 years , hike the salary by 10%
(b) if service is between 10 to 15 years, hike the salary by 15%
(c) if service is above 15 years, hike the salary by 20%

Read employee code, employee name, present salary and calculate hike
salary, total salary. Print it in a neat format:
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IV Semester B.Com. Degree Examination, May 2016

COMPUTER APPLICATIONS IN BUSINESS
(Repeaters)

Paper III
Time : 3 Hours] [Max. Marks : 80

Instructions: 1} All sections are compulsory subject to internal choice.

2) In Section -C gquestion No.12 is compulsory.
SECTION - A

1. Answer any ten questions. Each question carries 2 marks. (10 x 2 = 20}
(a) Define worksheet.
(b) Define cell and cell pointer.
{c) Name any four layout of power point presentation.
{d) What is slide sorter view?
() Define variable?
{f), Name the C++ tokens.
(g} Write the syntax of simple if statements with example.
(h} Define multimedia.
() Expand GIF, JPEG.
() Define Internet.
(k} Name any four online business websites.

()  Write the syntax of Body tag in HTML.

SECTION - B
Answer any THREE questions. Each carries 5 marks: (3 x5 =15)
2. Explain the types of cell references in MS Excel.
3. Describe the steps to insert sound and picture in a slide.

4. Define constant. Explain the types of constants in C++.

1 P.T.O.
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10.

11.

12.

13.

Write a C++ program to calculate simple interest.
Define sound. Explain the types of sound files.

Briefly explain the structure of HTML documents with an example.
SECTION -C

Answer any three questions including Q.No. 12, which is compulsory. Each
carries 15 marks. (3 x 15 =45}

Define chart. Explain the components of charts with the help of example.
Describe the view options available in MS-power point.

Explain the components of multimedia.

Explain the advantages and disadvantages of Internet.

Write a C++ program to read Item No., Item Name, Rate, Qty., and calculate
total amount, Net amount, discount for following conditions.

{a) If total amount is less than 500, discount is 5%

(b) If total amount is greater than 500 and less than or equal to 1500
discount 1s 10%

(c} If total amount is greater than 1500 , discount is 15% then print the
details in proper format.

Write a short notes on :
(a)} Spread sheets
(b) Data types in C++

(c) Search Engines.




